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p = �v2, (1.1)Ù¥�´�í��Ý§v´º�"IOG�e�í��ÝǑ� = 1.29 kg/m3§b�º�Ǒv =

1 m/s§ºE¤�ØrǑ
p = 1.29

(

�

1.29 kg/m3

)(

v

1 m/s

)2

Pa. (1.2)"
ò�¡¡È��ǑA ∼ 100m2§Ïdºé"
ò��^åǑ
F = pA = 129

(

�

1.29 kg/m3

)(

v

1 m/s

)2 (

A

100 m2

)

N. (1.3)"
ò�þǑM = 30 t = 30000 kg§¤±ºåE¤"
ò�\�ÝǑ
a =

F

M
= 4.3× 10−2

(

�

1.29 kg/m3

)(

v

1 m/s

)2 (

A

100 m2

)(

30000 kg

M

)

m/s2. (1.4)

2 ººº���ÚÚÚ"""


òòò   ���°°°ÝÝÝ���'''XXXb�"
ò u��¡¥%þ�§¢Úç����YÆ��´45Ý§"
ò�­þ��´M = 30 t = 30000 kg§z�¢¥�Üå��Ǒ
T =

Mg

6

√
2 = 6.9× 104

(

M

30000 kg

)(

g

9.8 m/s2

)

N. (2.1)Y²©þǑ
T∥ =

Mg

6
= 4.9× 104

(

M

30000 kg

)(

g

9.8 m/s2

)

N. (2.2){ü�Ä§XJ"
ò �k�� l§¢�ç����YÆ¬u)Cz£~Xb�,�¢Úç����YÆCǑ45∘ + �¤§b��¢¥Üå�ç�©þCq��§�où�¢¥Üå�Y²©þCǑ
T∥ =

Mg

6
tan(45∘ + �) ≈

Mg

6
(1 + 2�) = 4.9× 104

(

M

30000 kg

)(

g

9.8 m/s2

)

(1 + 2�) N, (2.3)8�¢�oY²åǑ4ΔT∥"¤±ºåE¤�"
ò �Cz�±��Xe"ÄkO�ºåE¤�¢Úç���YÆ�Cz§-¢å�Cz�u"
ó �Cz��Y²å
F = 4ΔT∥. (2.4)dd���YÆCzǑ

� = 0.00033
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v
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100 m2

)(

30000 kg

M

)(

9.8 m/s2

g

)lÝ. (2.5)ù�ÆÝéA� £Ǒ
Δs ≈ 250 m ⋅ 2� = 16.5 cm. (2.6)¤±§�±wÑºé"
ò �k��KǑ£ùp�?Øvk�9=¶ÚStewart²��Ö�§ÏLÖ��±Jp"
� �°Ý¤"
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